ANGEL’S PUBLIC SCHOOL

SAMPLE PAPER
PERIODIC TEST -1  SESSION 2021 - 22
CLASS -1V
TIME: 1 HR SUBJECT: MATHEMATICS

1. Choose the correct option.
(a) The place value of 9 in 7890 is
()9 (i) 900 (i) 90

(b)The standard numeral for 8000 + 600 + 70+ 5is

(i) 80675 (i) 8675 (iii) 86705
(c)Round off 672 nearestto 100is

(i) 600 (i) 700 (i) 670
(d)37005+0=__

(O (i) 37005 (i) 3705

(e)When we subtract two numbers, the answer is called the
(i) sum (i) product (i) difference
(f) When a number is subtracted from itself, the difference is always
()1 (ii) the number itself (i) O
2. Fill in the blanks.
(a) Write in the following numbers.
five lakh, two thousand, one hundred seventy four =

(b) Look at the abacus and write the number.
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(c) The digit has the least value in the number 6,15,430.

(d) Write the greatest and the smallest number using the digits 8,6,2,5,9.

() greatest
(if) smallest

M.M:40

(6x1=6)

(7x1=7)



(e) Put > or <in the blanks give below.
(i) 570068 570092
(i) 74478 74109

(f) two lakh eight hundred forty =

(g) 3327 - 1203 =

3. Solve. (Do any five)

(a) Write the following in ascending and descending order.

21679 6794 6109 61901

(b) Mark the periods and then write the number in words 542760.

(c) Observe the following pattern to fill in the blanks.
90,028 92,028 94,028
3,74,308 4,74,308 5,74,308

(d) Find the sum of the following.

19751
8 53
247

185
+ 924

(e) Find the difference of the following.
39586
- 51714

(f) Arrange the following in columns and subtract.
6989 — 5465
4. Solve. (do any three)

(5x3=15)

(3x4=12)

(a)A farmer bought a pump set. He paid Rupees 58,960 from his savings and

borrowed Rupees 40,750 from a bank. What is the cost of the pump set?

(b)Find the difference of the place values of 8 in 3,48,008

(c)A farmer had 7,500 oranges. Out of these, 859 oranges got spoilt. How many

good oranges are left?
(d)Solve the following step — wise.
(i) 8350 — 6805 + 978



